Hh 2 IR FT R R (RIE B EHN)

No 22 B ALK
| kT oL o R F 5 o
1 5 H WEWLF 743 - 1 = 57 H IFEI 11301 - 13
2 57 H WEWLTF 743 - 5 = 57 H LT 11303 -
3 g IWEWLH 743 - 6 = Cigss] IWE L 1303 -
4 5 H IWFEWLTF 743 - 7 = Liigis] IFEILF 11301 - 14
5 5 H IWFIr i 743 - 8 = 25 IWE WL 1301 - 15
6 5 H IWFELTF 745 - 1 = gt IWFEILT 11303 - 1
7 g IWEWLF 746 - 1 = Ciges] IWFEWLF 1301 - 5
25 H IFILT 11301 - 10
8 H IWFELF 1303 - 2
25 WEWLTF 746 - 2 = 25 H IWELF 1306 -
85 IWFEILT 746 - 4 = agas IWEWLF 1301 - 4
10 gt IWFEWLT 746 - 5 = Liigis| IWFEILT™ 1301 - 4
11 i H IWEWLTH 746 - 6 = 57 H IFEILT 11303 - 5
12 Ciigii] IWFELT 748 - 2 = gt IWFEILT 11305 - 2
13 iy H WEWLF 748 - 3 = 57 H IFEIL 1305 - 3
14 gt IWFELTF 1748 - 4 = gt IWFEILT 1305 - 2
15 i H IWEWLF 748 - 5 = 57 H IWFEIL 1305 - 3
16 Ciigii] IWFELTF 1748 - 6 = gt IWFEILT 11305 - 2
17 i H IWEWLF 748 - 7 = 57 H IWFEIL 1305 - 3
18 55 H IWFELTF 749 - 1 = iigas IWFEILT 11301 - 1
19 57 H WEWLr 749 - 2 = 55 H IEILF 11301 - 11
20 55 H IWEWLTF 749 - 3 = 55 H IFEILT 1301 - 7
21 57 H IWEWLT 749 - 4 = 55 H IEILT 11301 - 6
25 H IFEILT™ 1301 - 8
22 57 H WEWLTF 750 - 1 = 55 H IWEWLF 1300 - 4
25 H IFEIL™ 1301 - 3
8 H IWFEIL 11307 - 5
23 gt IWEWLTF 750 - 2 = ¥ H ILFE L™ 1300 - 3
24 57 H WEWLr 750 - 3 = 57 H IWELF 1300 - 1
25 gt IWFELF 753 - 1 = ¥ H IFEILT 11300 - 2
26 57 H WEWLFr 753 - 2 = 57 H IFEIL 1303 - 3
27 gt IWEWLTF 753 - 3 = ¥ H IEILT 11303 - 4
8 IWFELT 1307 - 3
55 H IWELr 1312 -
28 57 H WEWLTF 754 - 1 = 57 H IWEWLTF 1307 - 4
29 5 H WEWLF 754 - 2 = 57 H IWFEILT 1307 - 2
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30 27 H IWElr 754 - 3 = B H IWE Lt 11307 - 2
31 1Bk i Ji 271 - 1 = B IWF LT 1307 - 6
32 TH/K U Jr 271 - 3 = B LT 1302 -
33 1Bk i Ji 273 - 1 = 55 H (LT 1301 - 9
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